Supplementary Material 31 Cost effectiveness scenario analysis — 0% decay in efficacy per annum

Costs QALYs Incremental net health benefit (95% CI)
(95% CI) (95% CI) ICER k=£15,000 k=£20,000 k=£30,000
[P(most costly)] [P(most effective)] [Probability of being cost-effective]
£642.06 17.79359 -
Control (507.14, 798.4) (17.77337, 17.81535) -
[0.085] (0] [0] 0] (0]
£691.19 17.99396 0.197 0.198 0.199
SWAL only | (563.3, 846.93) (17.85406, 18.12833) dom'?:;ted (0.062, 0.332) | (0.062, 0.332) | (0.063, 0.332)
[0.216] [0.001] [0.002] [0.002] [0.001]
£747.60 18.26384 0.463 0.465 0.467
SWAL plus desk | (641.42, 868.39) (18.14595, 18.38005) £209.04 (0.34,0.583) | (0.341, 0.587) | (0.344, 0.591)
[0.699] [0.999] [0.998] [0.998] [0.999]






